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QUESTION 1

Which of the following encryption types would BEST be used to protect data on a shared computer?
A. File

B. VPN

C. Email

D. Mobile

Correct Answer: A

QUESTION 2

The marketing department contacts the web development team and states that they are receiving inconsistent values in
a newly launched form. Which of the following is MOST likely the problem?

A. Private browsing is being used by some clients visiting the site.

B. Client-side scripting has been deactivated on some clients visiting the site.

C. Legacy browsers that do not support scripting are being used by some clients.
D. Server-side scripting has been deactivated by the server administrator.
Correct Answer: B

B. Client-side scripting has been deactivated on some clients visiting the site.

Since this is a form, we need the clients to take it. If something isn\\'t working on their end, there could be some loose
information that we receive.

QUESTION 3

Which of the following is the number of bytes that is in 2KB?
A. 1024

B. 2048

C. 20000

D. 1048576

Correct Answer: B

QUESTION 4
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Given the following pseudocode:

program Breakfast

weekday = [“"Monday”, "“Tuesday”, "“Wednesday”,

weekend = [“Saturday”, “Sunday"]
if today == Wednesday
output “Bacon and eggs”
else if today == Firday
output “Oatmeal”
else if today in weekend
output “Waffles”
else
output “Pancakes”
end

“Thursday”,

If the Breakfast program ran on Sunday, which of the following would be the output?

A. Oatmeal

B. Bacon and eggs
C. Waffles

D. Pancakes

Correct Answer: C

QUESTION 5

Which of the following is both an input and output device?
A. Microphone

B. Speaker

C. Touch-screen monitor

D. Keyboard

Correct Answer: C

w Friday" '!

Audio engineer here while you can technically output a signal to a microphone and hear audio from it... (I don\\'t
recommend you try this for yourself as you might accidentally destroy your mic unless you have a really cheap mic
you\\'re willing to sacrifice) ...That is not the intention of a microphone. Not to mention the fact that you can\\'t both input
and output a signal from it at the same time. A microphone is clearly intended to be used as a input-only device.
However a touchscreen both is capable of inputs and outputs at the same time where as a microphone isn\\'t.
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